-4

uss @
17. (o) Somoflar eflfleow’ uwau@sd x+y +z=2, 2x —y — 2z = —1 womid
Xx—2y—z=1 eearm swaruThSmeTs Sids.
| ol ) 1
(b (2 -3 —3)—sin Criomy Srere.
6 -2 -1
PR ; eyt ; . . .
@) (Bﬁ—x—z) -@sir eflfluréasha 'x' geors o miillmears srsms.
18. (@) @m; Iyism mmUULg;Qw 3+4i, 9+8i, 5+2i wpmd -1-2{
SpSluemey @ Ml EGITSMS THUOSSID srer HlerL.
(&) a=cosa+ising, b=cosfB+isinf srefle, ab—— —@ler Ly
SITETTS.
@ Side: x6—1=0
9. (9) A+B= 45° sterfly, (1+tanA) (1+tanB) =2 erewr (e, GLogyiLd
tan 22% -1 w&llsmu aumall.
- 5in3A ¢ o
(c%) m =sin A erem ‘LE,]QIBL(I-].
o o ) V3
@) cos10 cos50 cos70 =~ o Hlemil.
20. (g) 2tan™? G) ='tan 1 (1—2) TS SN (H6.
-243
(99) LHIAGS: Ltys™ ==
dy . . 2 i x2—
@) - —06 srams: (i) y = (x* +3) cosxlogx (i) y = =
21. (o) 2 -mé srams: (i) y = sin(e* logx) (ii) x?siny = C
(@) y=x*cosx emeflsd, x2y, —4xy; + (x%+6)y =0 erar Heri.
32
@ u=log(x®+y?) erarflled, — —-m& smewrs.
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10.

11.

12.
13.

14.

15.

16.

. Evaluate: Lt,_,

f
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IN.B:- (1) Answer any FIVE questions in each of PART-A & PART-B and any two
divisions of each question in PART-C.

(2) Each question carries 2(two) marks in PART-A, 3(three) marks in PART-B and
5(five) marks for each division in PART-C.]

PART - A

. i e lx 4 2
. Find "x/, lfI9 xI—O
. Which term in (3x — )% is the middle term?

. Find the modulus and amplitude of the complex number 1 + i
=] =] 3
. Find the value of (cos 30 +isin30 )

. Without using table, find the value of sin50° cos40° + cos 50° sin 40°

o

Find the value of 1 — 2 sin? 22%

x*-24
x-2

. Flnd , if y = log(secx)

PART - B

; 5 7o 3 —4
Find the adjoint of (2 5)
Find the real and imaginary part of :—:—:

sin 24

Prove that Sy

= cot4

Prove that sin50° — sin70° + sin10° = 0

sin7x
Evaluate: Lty,q e
Frnd , if y=x%e*sinx

Find Q, if y=sin"1(x?)
dx
If u=x3+3xy+y3, find =5 5“

[Turn over...

185/557—1



17. (a)
(b)
(c)
18. (a)
(b)
(c)
19. (a)
(b)
(c)
20. (a)
(b)
(c)
21. (a)
(b)
(c)
185/557—2

2.

PART - C

Using Cramer’s rule, solve the given equations
x+y+z=2, 2x—-y—-2z=-1 and x-2y-z=1

1 -1 1
Find the inverse of (2 -3 —3)
6 -2 -1

10
Find the term independent of 'x’ in the expansion of (3\/5 —x%)

Prove that the points 3+4i, 9+8i, 5+2i and -1 —2i form a
rhombus in the argand diagram.

If a=cosa+isina and b =cosfB+i sinf, find ab—ﬁ

Solve: x6—1=0

If A+B= 45", prove that (1+tanA)(1+tanB)=2. Hence
deduce the value of tan 22%

sin34

Prove that ———— =sin4
1+2 cos 24
o [ o 3

Prove that cos10 cos50 cos70 = =

“1.{2) = -1 (22
Show that 2tan (?) = tan (15
Evaluate: Lty 3> 2:3

. d}' P . 2 . IZ—I

Find 5 (i) y = (x* 4+ 3) cosx logx (i) y = -
Find Z—z ¢ (i) y = sin(e* logx) (ii) x?siny = C

If y=x%cosx, prove that x2y, —4xy, + (x? +6)y =0

a2y

= 3 4 a3
If u=log(x®+y3?), find =7

10.

1.

12

13.

14.

15.

16.

-3-

S1p aiganb

[ediy @ () Led-o1 wmb LESH-t, AL galan® LEHIOGHs TesEID
o elamssEnE@w OO UGH-G-1l0 pedeaurm aﬁlmrrsﬂsﬁl@gg;
gCszio Ak Wfasersen el welasain.

(2) galearm eleomaw UGH--el60 2@rer(®)  wHiueTaeT,

ugH-g-eleo 3(aperm) wHLuaTsET WHDID LGH-G -1l et
Uflawd 5 (Bg) wHUCUTSeT CLmb.]

usd - 9

|Jlr 4’ 0 eTeafld ‘X’ —smILG GTeTITS.

(3x—-y)° -6 g 2.my B 2-miy.

. 1+ ieretrm senblusmmsmflsr WL (G O aiFs sramrs.
o =] 3 3 . .
: (cos 30 +isin30 ) —60T LSIIMUS STETTS.

. S Lausmemmmenl! LWSTURSSMoe sin 50 cos40 + cos 50° sin40° —sir

LSIIMUS STTs.
10
1-2sin? 22 it wHleUS sTas.

xt-24

wHINBS: Lty —— =

= log(secx) srarflen, j—z & SIS,
UGS - )

(3 _g) —SI;IT Cariy gjemfl srems.

1-i

; —67 Gl pmih shumeTl UGSemes sTes.
sin24 .
T ooeoa — COtA ete flemil.
sin50° —sin70° +sin10° = 0 sraw B9

sin 7x
mﬁluﬁl@aa Ltyo—— S
y =x%e*sinx ereuflsy % —08 SEHTS.
y = sin"!(x?) sterfleb, g —0& SIS,

2

u=x’+3xy+y* aafl, > —mé srewms.

[Feius...
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